Unique Auctions Catalogue 06 Feb 2018

- 1 A Farfisa electric organ with tutorial £20.00 £30.00
- 2 A formica top table and 4 chairs £15.00 £20.00
- 3 A 4'6" divan bed with metal headboard £20.00 £30.00
- 4 A Broline microwave oven £10.00 £20.00
- 5 A Candy fridge
- 6 A tall kitchen cabinet £10.00 £20.00
- 7 A box of dolls and soft toys £10.00 £20.00
- 8 A 1930's tall boy £10.00 £20.00
- 9 3 pairs of speakers £10.00 £20.00
- 10 A coffee table £5.00 £10.00
- 11 An old corner cupboard in need of a little tlc £20.00 £30.00
- 12 A glazed sliding door cabinet £10.00 £20.00
- 13 A glazed sliding door cabinet £10.00 £20.00
- 14 A pair of bedside cabinets £10.00 £20.00
- 15 A white 5 drawer chest £10.00 £15.00
- 16 A pine bedside cabinet £10.00 £20.00
- 17 A pair of 3 drawer white chests £10.00 £20.00
- 18 A Zanussi fridge £20.00 £30.00
- 19 A Zanussi washing machine £20.00 £30.00
- 20 A Breville microwave oven £10.00 £20.00
- 21 A White Knight slimline dishwasher £20.00 £30.00
- 22 A Lec fridge £20.00 £30.00
- 23 A Hotpoint washing machine £20.00 £30.00
- 24 A Scotts of Stow mini oven £15.00 £20.00
- 25 A Panasonic microwave £10.00 £20.00
- 26 A Zanussi electric cooker £20.00 £30.00
- 27 3 electric kettles £10.00 £20.00
- 28 A glazed sliding door cabinet £10.00 £20.00
- 29 A Sharp microwave oven £10.00 £20.00
- 30 A Belling electric cooker £20.00 £30.00
- 31 A Hotpoint freezer £20.00 £30.00
- 32 A Bosch washing machine £20.00 £30.00
- 33 A Sharp microwave oven £10.00 £20.00
- 34 An Iceking fridge £20.00 £30.00
- 35 A Lec fridge £20.00 £30.00
- 36 A Delonghi heater and one other £10.00 £20.00
- 37 A white 3 drawer bedside chest £10.00 £15.00
- 38 A 2 over 2 mahogany effect chest of drawers £20.00 £30.00
- 39 A draw leaf table and 6 chairs £20.00 £30.00
- 40 A quantity of walking sticks and umbrella's. £10.00 - £20.00

- 41 2 pouffe's and a glass table £10.00 £12.00
- 42 A mahogany effect wall unit £20.00 £30.00
- 43 3 step ladders £20.00 £30.00
- 44 A pine standard lamp £10.00 £20.00
- 45 A 5 drawer chest £10.00 £20.00
- 46 A bathroom cabinet £10.00 £15.00
- 47 A 2 shelf LP record rack £10.00 £15.00
- 48 A folding stool and one other £10.00 £15.00
- 49 A Moffatt electric cooker with eye level grill £30.00 £40.00
- 50 2 stools with woven string tops £10.00 £15.00
- 51 A shelf of assorted glass ware £10.00 £15.00
- 52 2 shelves of pots and pans £10.00 £20.00
- 53 A DVD/video player, radio etc £15.00 £20.00
- 54 3 green suitcases £10.00 £15.00
- 55 A shelf of hair driers and other hair appliances £20.00 £30.00
- 56 2 shelves of kitchen ware including teapots, fish kettle etc £20.00 £30.00
- 57 3 electric kettles, iron, fan etc £10.00 £20.00
- 58 A shelf of dolls and other toys £10.00 £15.00
- 2 shelves of kitchen ware including good clear Pyrex, some unused £10.00 £20.00
- 60 A printer and a brief case £10.00 £15.00
- 61 A Panasonic bread machine £20.00 £30.00
- 62 A picnic basket and other basket ware £10.00 £20.00
- 63 A shelf of assorted glass ware £10.00 £20.00
- 3 shelves of pots, pans, mixing bowl etc £10.00 £20.00
- 65 2 shelves of pots, pan, mixing bowl etc £20.00 -
- 66 A Japanese 18 piece tea set £25.00 £35.00
- 2 shelves of kitchen ware including stainless steel £20.00 £0.00
- 68 A Xerox 575 typewriter £10.00 £20.00
- 69 A quantity of fans £10.00 £20.00
- 70 A shelf of kitchenware including stainless steel £10.00 £20.00
- 71 A Sony 5 disc automatic disc loading system, radio etc £10.00 £20.00
- 72 A vintage movie camera in case £10.00 £20.00
- 73 A set of 4 lawn bowls £10.00 £20.00
- 74 A shelf of assorted cutlery £10.00 £20.00
- 75 A shelf of assorted glass ware £10.00 £20.00
- 76 3 shelves of stationery items £20.00 £30.00
- 77 A large quantity of soft toys £10.00 £20.00

1

- 78 A large terracotta pig garden ornament £10.00 £20.00
- 79 A shelf of assorted candles £10.00 £20.00
- 80 2 music centres etc on 2 shelves £10.00 £20.00
- 81 A shelf of wooden items including small corner cupboard £10.00 £20.00
- 3 shelves of kitchen ware including slow cooker, steamer etc £20.00 £30.00
- 83 A shelf of glass ware £10.00 £20.00
- 84 A shelf of assorted needlework items etc £10.00 £20.00
- 85 A shelf of kitchen ware including Pyrex £10.00 £20.00
- 86 2 boxes of art materials £10.00 £20.00
- 87 A blender, kettle etc £10.00 £20.00
- 88 A shelf of assorted glass ware £10.00 £20.00
- 89 A shelf of toiletries etc £10.00 £20.00
- 90 A shelf of DVD's including approximately 40 TV series box sets and over 50 James Bond etc £20.00 £30.00
- 91 A vacuum cleaner £10.00 £20.00
- 92 2 shopping trolley's £10.00 £20.00
- 93 A mixed lot including clock, shed alarm etc £10.00 £20.00
- 94 2 boxes of Warplanes collector's club cards etc £10.00 £20.00
- 95 8 continental art deco storage jars, some a/f £10.00 £20.00
- 96 A shelf of tools etc £10.00 £20.00
- 97 A shelf of LP and 78 rpm records £20.00 £30.00
- 98 A quantity of table lamps some with shades £10.00 £20.00
- 99 An old mincer £10.00 £20.00
- 100 2 shelves of kitchen ware including teasmade £20.00 £30.00
- 101 4 shelves of electrical items £20.00 £30.00
- A terracotta garden pot and a quantity of plastic garden pots £10.00 £20.00
- 103 A large earthenware garden pot £10.00 £20.00
- 104 A large double ladder, a step ladder and a decorated ladder £20.00 £30.00
- 105 A sack truck and another trolley £10.00 £20.00
- 106 A quantity of garden tools £10.00 £20.00
- 107 2 sets of tool drawers together with a box and a bucket of tools £10.00 £20.00
- 108 A quantity of garden tools £10.00 £20.00
- 109 An electric drill and other tools £10.00 £20.00
- 110 3 boxes of tools etc £10.00 £20.00
- 111 2 boxes of drinking glasses £10.00 £20.00
- 112 A box of tools £10.00 £20.00

- 113 A quantity of garden tools £10.00 £20.00
- 114 A hose pipe on a reel £10.00 £20.00
- 115 A box and a bucket of tools £10.00 £20.00
- 116 A quantity of garden tools £10.00 £20.00
- 117 A box and a bag of tools £10.00 £20.00
- 118 A box of tools £10.00 £20.00
- 119 A tool box and contents £20.00 £30.00
- 120 A quantity of garden tools £10.00 £20.00
- 121 2 step ladders £10.00 £20.00
- 122 A tool box and contents £20.00 £30.00
- 123 A quantity of garden tools £10.00 £20.00
- 124 A large bucket of tools £10.00 £20.00
- 125 3 step ladders £10.00 £20.00
- 126 A large box of tools £10.00 £20.00
- 127 A quantity of garden tools £10.00 £20.00
- 128 2 circular occasional tables £10.00 £20.00
- 129 2 work mates £10.00 £20.00
- 130 A dehumidifier £10.00 £20.00
- 131 A hedge trimmer and 2 strimmers £20.00 £30.00
- 132 A teak sideboard £15.00 £20.00
- 133 A pair of Victorian mahogany balloon back chairs in need of re-upholstering £20.00 £30.00
- 134 3 pairs of shoes and a pair of boots £10.00 £20.00
- 135 A nest of 3 teak tables £15.00 £20.00
- 136 An oak magazine rack £8.00 £10.00
- 137 A model train storage cabinet £20.00 £30.00
- 138 A quantity of garden tools £10.00 £20.00
- 139 A carved wood stand £10.00 £15.00
- 140 A pair of teak cabinets £20.00 £30.00
- 141 A nest of 3 metal framed tables £20.00 £30.00
- 142 An oval kitchen table and 2 chairs £20.00 £30.00
- 143 An exercise bike £10.00 £20.00
- 144 A tin bath and contents including door furniture, tools etc £10.00 £20.00
- 145 A corner cabinet £10.00 £20.00
- 146 A galvanised dust bin and contents £10.00 £20.00
- 147 A painted book case £10.00 £20.00
- 148 An office desk £20.00 £30.00
- 149 36 terracotta land drain pipes etc £30.00 £40.00
- 150 A mobility scooter £40.00 £60.00
- 151 A metal workshop cabinet £10.00 £20.00
- 152 A garden bench £20.00 £30.00

- 153 A canteen of cutlery and other cutlery £10.00 £20.00
- 154 A garden trough and a garden ornament £10.00 £20.00

155	A quantity of garden pots etc (6 shelves) £20.00 - £30.00	197	A box of electrical items £10.00 - £20.00
156	A quantity of garden pots £10.00 - £20.00	198 199	A wooden trough, watering can etc £10.00 - £20.00 A Rexon pedestal drill £40.00 - £60.00
157	A bird bath £20.00 - £30.00	200	A tray of tools etc £10.00 - £20.00
158	A quantity of garden pots £10.00 - £20.00	201	4 axle stands £10.00 - £20.00
159	A quantity of garden pots £10.00 - £20.00	202	A box of tools £10.00 - £20.00
160	A ladder and 2 step ladders £20.00 - £30.00	202	A large box of screws etc £10.00 - £20.00
161	A quantity of garden tools £10.00 - £20.00	203	3 wall mirrors £10.00 - £20.00
162	A Challenge lawn mower £10.00 - £20.00	204	
163	A 2 seat garden bench with centre table £30.00 -		An oak framed 'Bubbles' print £10.00 - £20.00
	£40.00	206	A rat cage trap, a cash box, shoe last etc £10.00 - £20.00
164	A Bosch lawn mower and a Qualcast strimmer £30.00 - £40.00	207	A Singer sewing machine £10.00 - £20.00
165	A box of sundry household hardware items £10.00	208	A Dremel drill and accessories £30.00 - £40.00
100	- £20.00	209	A box of cable ties £10.00 - £20.00
166	An Odessa Trojan off road bike £80.00 - £120.00	210	A GTech cleaner and 2 others £10.00 - £20.00
167	A Universal team off road bike £80.00 - £120.00	211	A pair of framed and glazed floral prints £10.00 -
168	A ladder and 2 step ladders £10.00 - £20.00		£20.00
169	A Honda petrol mower £60.00 - £80.00	212	A large jardiniere, a smaller jardiniere and a vase £10.00 - £20.00
170	4 new garden tools £15.00 - £20.00	213	A table lamp and a pair of matching candlesticks
171	A pine box and a pine tool case £20.00 - £30.00	210	£10.00 - £15.00
172	2 large garden pots and one other £20.00 - £30.00	214	A mixed lot of silver plate £15.00 - £20.00
173	A set of metal work shop shelves £10.00 - £20.00	215	An oak bureau bookcase £20.00 - £30.00
174	A ladder and a step ladder £10.00 - £20.00	216	An oak wall clock £25.00 - £35.00
175	3 garden pots £10.00 - £20.00	217	An oak tripod table £20.00 - £30.00
176	A set of greenhouse shelves £20.00 - £30.00	218	A quantity of old boxes £10.00 - £20.00
177	2 garden pots and 2 garden ornaments £10.00 - £20.00	219	A brass oil lamp with shade and chimney £20.00 - £30.00
178	3 glazed ceramic garden pots and 2 others £20.00 - £30.00	220	A Galle' style glass jug and an art glass ornament £20.00 - £30.00
179	A large wooden pot and one other £10.00 - £20.00	221	A 2 over 3 chest of drawers £30.00 - £40.00
180	A bird bath and garden pots £20.00 - £30.00	222	A mountain scene entitled 'In the West of Ireland',
181	2 large furniture clamps £10.00 - £20.00		missing glass £10.00 - £20.00
182	A Hitachi bench grinder £20.00 - £30.00	223	A good quality modern wall unit £20.00 - £30.00
183	A cased Bosch electric saw £20.00 - £30.00	224	6 Lilliput Lane cottages £10.00 - £20.00
184	A bench vice £10.00 - £20.00	225	A mixed lot of coloured glass £10.00 - £20.00
185	A bench vice £10.00 - £20.00	226	A Pendelfin stand and 5 Pendelfin figures £10.00 - £20.00
186	A bench vice £10.00 - £20.00	227	2 red glass brandy goblets and a pair of coloured
187	A bench vice £10.00 - £20.00	221	glass candle holders £10.00 - £20.00
188	A quantity of electric hand tools £20.00 - £30.00	228	A cast iron cat door stop £10.00 - £15.00
189	An Enterprize Pro bike £40.00 - £60.00	229	A gilt framed lake and mountain scene £10.00 -
190	A Clarkweld Easi Arc 150 welder £20.00 - £30.00		£20.00
191	A Decimo adding machine £10.00 - £20.00	230	An oak framed and glazed bridge scene £10.00 -
192	A box of electrical items £10.00 - £20.00	004	£20.00
193	2 boxes of tools and 2 tool boxes £10.00 - £20.00	231	A Sulvasi in and a Wada in \$10.00
194	2 old ceiling lights for restoration £20.00 - £30.00	232	A Sylvac jug and a Wade jug £10.00 - £20.00
195	2 ammunition boxes £10.00 - £20.00	233	A set of 3 graduated jugs £10.00 - £20.00
196	A tool box and contents £20.00 - £30.00	234	A good quality oak cabinet/bookcase £20.00 -

	£30.00		£60.00
235	2 silver plated baskets £10.00 - £20.00	269	A framed and glazed print depicting a young lady
236	A Hitachi tape recorder with accessories £10.00 -		reading £10.00 - £20.00
237	£20.00 An oil on canvas by Edwin John Ellis £10.00 -	270	An oil on board rural scene signed Lillian Bartell £10.00 - £20.00
201	£20.00	271	A modern uplighter floor lamp £10.00 - £20.00
238	A floral encrusted vase £10.00 - £20.00	272	A wooden standard lamp with shade £10.00 -
239	A French art deco marble mantel clock		£20.00
240	surmounted boy and girl £20.00 - £30.00 A cur glass bowl, vases etc £10.00 - £20.00	273	A framed and glazed study of gentlemen £20.00 - £30.00
241	A mahogany cabinet with drop handles £20.00 -	274	A pine framed mirror and 2 others £10.00 - £20.00
271	£30.00	275	An oak court cupboard £40.00 - £60.00
242	A mixed lot of glass ware £10.00 - £20.00	276	A ceramic table lamp with shade £10.00 - £20.00
243	9 pieces of Wedgwood Jasper ware £10.00 -	277	A framed and glazed Coulson print £20.00 - £30.00
	£20.00	278	A log effect electric fire £10.00 - £20.00
244	A quantity of glass lamp shades £10.00 - £20.00	279	3 pine country style chairs £10.00 - £20.00
245	A good quality mahogany wall unit £20.00 - £30.00	280	An old wooden step ladder £10.00 - £20.00
246	A mahogany 8 day painted dial Grandfather clock, Unwin & Holt, Newark £200.00 - £300.00	281	2 framed and glazed prints £10.00 - £20.00
247	2 glass decanters, a cut glass basket and 5	282	A pine child's wardrobe £30.00 - £40.00
	glasses £10.00 - £20.00	283	An Acoustic Solutions television £10.00 - £20.00
248	A mixed lot of pewter items etc £10.00 - £20.00	284	6 framed and glazed shoe pictures and 2 others £10.00 - £20.00
249	A silver plated ice bucket, a canteen of cutlery and a cased dessert spoon set £20.00 - £30.00	285	A mixed lot of brass ware including table lamps £20.00 - £30.00
250	A box of toy animals etc £10.00 - £20.00	286	A quantity of torches £10.00 - £20.00
251	A Victorian 4 tier mahogany corner what not	287	A large quantity of haberdashery and tins of
050	£120.00 - £150.00	201	buttons £20.00 - £30.00
252 253	2 large jugs and a large basin £10.00 - £20.00 A framed and glazed continental scene £10.00 -	288	A garden table and 2 chairs £10.00 - £20.00
200	£20.00	289	3 model galleons £20.00 - £30.00
254	A modern floor lamp £10.00 - £20.00	290	A quantity of new shoes £10.00 - £20.00
255	A large framed winter scene £10.00 - £20.00	291	An advertising mirror £10.00 - £20.00
256	A copper kettle, a brass garden spray and a brass	292	A framed and glazed music poster £10.00 - £20.00
	horse and cart £10.00 - £20.00	293	A metamorphic tea trolley £15.00 - £20.00
257	A quantity of glasses (2 shelves) £10.00 - £20.00	294	A framed and glazed print entitled 'Village Holiday' £10.00 - £20.00
258	A mixed lot of coloured glass £10.00 - £15.00	295	A bedroom chair £10.00 - £15.00
259	A mixed lot of silver plate including tray, cutlery etc £10.00 - £20.00	296	An oak fire curb £10.00 - £15.00
260	2 hand bags and a lap top case £8.00 - £10.00	297	A framed and glazed boat print £10.00 - £20.00
261	A quantity of pictures £10.00 - £20.00	298	2 glass door panels inscribed Ladies and
262	5 framed and glazed adverts and a painted mirror £10.00 - £20.00	299	Gentlemen £20.00 - £30.00 A large quantity of unboxed diecast including
263	A Double divan bed with mattress £30.00 - £40.00	299	Lesney, Matchbox etc £25.00 - £35.00
264	An oil on canvas signed Barker '73 £40.00 - £60.00	300	A spelter figure £20.00 - £30.00
265	A wrought iron framed mirror £10.00 - £20.00	301	2 oval wool rugs £10.00 - £15.00
266	A framed and glazed lithograph entitled 'The	302	A framed bevel edged mirror £10.00 - £20.00
200	Thatcher' £10.00 - £20.00	303	A quantity of wooden figures including animals
267	A framed and glazed portrait print of a lady £10.00 -		£15.00 - £20.00
	£20.00	304	A china cabinet £10.00 - £20.00
268	An antique gilded table on cherub base £40.00 -	305	A print on canvas of poppies £10.00 - £15.00

306	A pine plant stand £15.00 - £20.00	346	A Brother AX25 typewriter £10.00 - £20.00
307	A new pet cage £15.00 - £20.00	347	A vintage suitcase £10.00 - £20.00
308	2 brass fenders, a pair of brass fire dogs and fire	348	A piano stool £8.00 - £10.00
200	irons £30.00 - £40.00	349	2 small vintage suitcases £10.00 - £20.00
309	A pair of framed and glazed prints of musicians £10.00 - £20.00	350	A mixed lot of brassware etc including Lenox Castles of the World model £10.00 - £20.00
310 311	A large quantity of golf clubs £20.00 - £30.00 A new and boxed Saniflo 3 £20.00 - £30.00	351	An Epsom printer and a Sharp fax machine £10.00 - £20.00
312	4 terracotta chimney pots etc £10.00 - £20.00	352	A Flymo lawn mower £15.00 - £20.00
313	3 folding garden chairs £5.00 - £10.00	353	A Qualcast lawn mower £20.00 - £30.00
314	An Esmor bowls bag containing 4 Drakes Price	354	A step stool and 2 others £10.00 - £15.00
	bowls and size 9 bowling shoes £10.00 - £20.00	355	A limited edition Star Trek Voyager DVD set, E.R.
315	2 boxes of linen £10.00 - £20.00		48 disc collector's set and a Star Wars card game
316	A tape deck and speakers £10.00 - £20.00	050	£35.00 - £45.00
317	An assortment of 24 plus hats, hat boxes and 2 vintage handbags £20.00 - £30.00	356	A large quantity of boxed Die cast Days Gone and other models £50.00 - £60.00
318	A vintage projector etc £10.00 - £15.00	357	An electric fire £10.00 - £20.00
319	A disc Jockey Auto record player £10.00 - £20.00	358	A leaf blower/vac £20.00 - £30.00
320	A glavanised watering can and 2 buckets £10.00 -	359	A box of tools £10.00 - £20.00
	£20.00	360	A Flymo lawn mower £10.00 - £20.00
321	A quantity of sea shells £10.00 - £15.00	361	2 small vintage suitcases £10.00 - £20.00
322	An assortment of vintage linens, household	362	A quantity of photo frames £10.00 - £20.00
	textiles and children's gowns with vintage suitcase £20.00 - £30.00	363	2 lengths of velvet fabric £10.00 - £20.00
323	2 large garden pots £10.00 - £20.00	364	A mixed lot of wooden items £10.00 - £20.00
324	A framed and glazed watercolour £10.00 - £20.00	365	A framed and glazed watercolour of a manor
325	A large quantity of light bulbs £20.00 - £30.00	200	house signed J S Border £10.00 - £20.00
326	A framed and glazed print £10.00 - £20.00	366	A framed and glazed signed print £10.00 - £20.00
327	A metal and wood garden bench £20.00 - £30.00	367	An oil on canvas painting of a stallion with mares by R, McWhirter, signed £10.00 - £20.00
328	A box of knitting wool £10.00 - £20.00	368	A framed and glazed print 'inside a country
329	An oval mirror and one other £10.00 - £15.00		mansion' £10.00 - £20.00
330	A wrought iron and glass wall shelf £10.00 - £20.00	369	A quantity of Chinese pictures £10.00 - £20.00
331	A mixed lot of metal ware including figures,	370	A modern cabinet £10.00 - £20.00
	lanterns, cars etc	371	A pedestal drill £40.00 - £60.00
332	A framed and glazed floral print £10.00 - £15.00	372	A sundial £10.00 - £20.00
333	A tool box and tools £10.00 - £20.00	373	A mixed lot of cutlery including cased set £10.00 -
334	A box of old photographs etc £10.00 - £20.00		£20.00
335	An Easydry electric clothes drier with accessories (never used) £20.00 - £30.00	374	A large quantity of boxed and unboxed die cast including Lledo, Hotwheels, Matchbox etc £15.00 - £20.00
336	A portrait of a red haired girl £10.00 - £20.00	275	
337	A new wrought iron gate £15.00 - £20.00	375 376	An angle poise lamp £10.00 - £20.00 2 garden planters £15.00 - £20.00
338	A quantity of tools, nuts, bolts etc £10.00 - £20.00	377	A dressing table stool £8.00 - £10.00
339	A 4 drawer filing chest £10.00 - £20.00	378	A quantity of Japanese tea ware £20.00 - £30.00
340	A modern standard lamp £10.00 - £20.00		
341	A Pro User 850w generator £30.00 - £40.00	379	A quantity of Grafton Indian Tree pattern tea and dinner ware £20.00 - £30.00
342	A large glass carboy £10.00 - £20.00	380	A Honda generator £80.00 - £120.00
343	A corner cabinet £10.00 - £20.00	381	A mixed lot of sewing items including vintage
344	A quantity of cushions £10.00 - £15.00		sewing patterns, tapestry frame, knitting patterns
345	A quantity of radios, one shelf £10.00 - £20.00		etc £15.00 - £20.00

382	A quantity of picnic ware £10.00 - £20.00	422	A gilt framed oil on canvas £10.00 - £20.00
383	A metal and wood garden bench £20.00 - £30.00	423	A pestle and mortar £8.00 - £10.00
384	A mixed lot of glass ware £10.00 - £20.00	424	A nest of 3 tables £10.00 - £20.00
385	A quantity of basket ware £10.00 - £20.00	425	A vacuum cleaner £10.00 - £20.00
386	A wooden planter and a terracotta pot £10.00 - £20.00	426	3 Doulton stoneware jugs and a teapot £10.00 - £20.00
387	A quantity of ceramic planters £10.00 - £20.00	427	A radio lantern £10.00 - £20.00
388	A wheel barrow £10.00 - £20.00	428	A Japanese tea set £10.00 - £20.00
389	A quantity of planters and garden ornaments	429	A box of LP records £10.00 - £20.00
	£10.00 - £20.00	430	A roll of electric cable £10.00 - £20.00
390	A wheel barrow £10.00 - £20.00	431	A quantity of old oil cans £10.00 - £20.00
391	A wheel barrow £10.00 - £20.00	432	A new telescopic gun sight £10.00 - £20.00
392	A quantity of ceramic planters £10.00 - £20.00	433	A metal and wood garden bench £20.00 - £30.00
393	A mixed lot of tools £10.00 - £20.00	434	A large quantity of walking sticks £10.00 - £20.00
394	A quantity of ceramic planters £10.00 - £20.00	435	A trunk of electrical fittings etc £20.00 - £30.00
395	A mixed lot of tools £10.00 - £20.00	436	A mixed lot of tools including Bosch £20.00 -
396	A modern standard lamp £10.00 - £20.00		£30.00
397	A Paragon tea set £15.00 - £20.00	437	A Babyliss hair dryer on stand £10.00 - £20.00
398	A pot and stand £10.00 - £20.00	438	A Royal Doulton coffee set £15.00 - £20.00
399	A dressing table tray, brush and mirror £10.00 -	439	A Hitachi television £20.00 - £30.00
400	£15.00 A box of assorted linen £10.00 - £20.00	440	An amber glass trinket set and posy bowl £10.00 - £20.00
401	A Royal Doulton series ware charger £10.00 -	441	A tool box and tools £20.00 - £30.00
	£20.00	442	3 boxes of knitting wool £10.00 - £20.00
402	A set of Coronation Street model houses £10.00 - £20.00	443	A Shoprider 4 wheel mobility scooter £40.00 - £60.00
402		443 444	
	£20.00		£60.00
403	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria'	444	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 -
403 404	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00	444 445	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00
403 404 405	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00	444 445 446	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00
403 404 405 406	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00	444 445 446	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a
403 404 405 406 407	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's	444 445 446 447 448	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00
403 404 405 406 407 408	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00	444 445 446 447 448	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00
403 404 405 406 407 408	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00	444 445 446 447 448	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00
403 404 405 406 407 408 409 410	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 -	444 445 446 447 448 449 450	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00
403 404 405 406 407 408 409 410 411	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00	444 445 446 447 448 449 450 451	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00
403 404 405 406 407 408 409 410 411	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00	444 445 446 447 448 449 450 451 452	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00 An old metal guillotine £20.00 - £30.00
403 404 405 406 407 408 409 410 411 412 413	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00 A mixed lot of wooden items £10.00 - £20.00	444 445 446 447 448 449 450 451 452 453	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00 An old metal guillotine £20.00 - £30.00 A Ladies bike £20.00 - £30.00
403 404 405 406 407 408 409 410 411 412 413 414	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00 A mixed lot of wooden items £10.00 - £20.00 A modern standard lamp £10.00 - £20.00	444 445 446 447 448 449 450 451 452 453 454	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00 An old metal guillotine £20.00 - £30.00 A Ladies bike £20.00 - £30.00 3 folding chairs £10.00 - £20.00
403 404 405 406 407 408 409 410 411 412 413 414 415	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00 A mixed lot of wooden items £10.00 - £20.00 A modern standard lamp £10.00 - £20.00 A Victorian part tea set £10.00 - £20.00	444 445 446 447 448 449 450 451 452 453 454 455	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00 An old metal guillotine £20.00 - £30.00 A Ladies bike £20.00 - £30.00 3 folding chairs £10.00 - £20.00 A drop leaf table £10.00 - £20.00
403 404 405 406 407 408 409 410 411 412 413 414 415 416	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00 A mixed lot of wooden items £10.00 - £20.00 A wodern standard lamp £10.00 - £20.00 A Victorian part tea set £10.00 - £20.00 A decorative axe £10.00 - £20.00	444 445 446 447 448 450 451 452 453 454 455 456	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00 An old metal guillotine £20.00 - £30.00 A Ladies bike £20.00 - £30.00 3 folding chairs £10.00 - £20.00 A drop leaf table £10.00 - £20.00 3 white 2 drawer chests £10.00 - £20.00
403 404 405 406 407 408 409 410 411 412 413 414 415 416 417	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00 A mixed lot of wooden items £10.00 - £20.00 A wodern standard lamp £10.00 - £20.00 A Victorian part tea set £10.00 - £20.00 A box of LP records £10.00 - £20.00	444 445 446 447 448 449 450 451 452 453 454 455 456 457	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00 An old metal guillotine £20.00 - £30.00 A Ladies bike £20.00 - £30.00 3 folding chairs £10.00 - £20.00 A drop leaf table £10.00 - £20.00 3 white 2 drawer chests £10.00 - £20.00 A pair of waders £10.00 - £20.00
403 404 405 406 407 408 409 410 411 412 413 414 415 416 417 418	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00 A mixed lot of wooden items £10.00 - £20.00 A wodern standard lamp £10.00 - £20.00 A Victorian part tea set £10.00 - £20.00 A decorative axe £10.00 - £20.00 A box of LP records £10.00 - £20.00 A mixed lot of tools £10.00 - £20.00	444 445 446 447 448 449 450 451 452 453 454 455 456 457 458	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £30.00 A Ladies bike £20.00 - £30.00 3 folding chairs £10.00 - £20.00 A drop leaf table £10.00 - £20.00 A pair of waders £10.00 - £20.00 A tea trolley £8.00 - £10.00
403 404 405 406 407 408 409 410 411 412 413 414 415 416 417 418 419	£20.00 A folding cake stand £20.00 - £30.00 An old book entitled 'With the Flag to Pretoria' £10.00 - £15.00 A brass and copper oil lamp £20.00 - £30.00 A Coalport tea set £20.00 - £30.00 A nest of 3 tables £15.00 - £20.00 A quantity of old books including Children's classics £10.00 - £20.00 An old metal ceiling light £10.00 - £20.00 An Electrolux vacuum cleaner £10.00 - £20.00 A box containing large rolls of lace trim £10.00 - £20.00 A mahogany tripod plant stand £10.00 - £20.00 A mixed lot of wooden items £10.00 - £20.00 A wodern standard lamp £10.00 - £20.00 A Victorian part tea set £10.00 - £20.00 A decorative axe £10.00 - £20.00 A box of LP records £10.00 - £20.00 A mixed lot of tools £10.00 - £20.00 A mahogany elbow chair £20.00 - £30.00	444 445 446 447 448 449 450 451 452 453 454 455 456 457 458	£60.00 A Victorian mahogany chair £15.00 - £20.00 A wooden tray and triple sweet dish £10.00 - £15.00 2 boxes of costume jewellery £10.00 - £20.00 A small drop leaf table with leather top £15.00 - £20.00 A Pear's coloured engraving, a black & white print of John Wayne, an Indian lantern and a Staffordshire pottery bowl £10.00 - £20.00 A leather topped tripod wine table £10.00 - £20.00 2 old pewter pots £10.00 - £20.00 3 boxes of knitting wool £10.00 - £20.00 An old metal guillotine £20.00 - £30.00 A Ladies bike £20.00 - £30.00 3 folding chairs £10.00 - £20.00 A drop leaf table £10.00 - £20.00 A pair of waders £10.00 - £20.00 A tea trolley £8.00 - £10.00 A greenhouse stand and 2 folding tables £20.00 -

	462 463	A circular clock and a pair of prints £10.00 - £20.00 A quantity of wooden animals and figures £10.00 -	501	A Coalport cake plate and one other £10.00 - £20.00
		£20.00	502	A framed and glazed Chinese painting £10.00 - £20.00
	464	A pair of wicker chairs £10.00 - £20.00	503	A signed ceramic vase £10.00 - £20.00
	465	A small vintage suitcase £10.00 - £15.00	504	2 four bottle cruets £20.00 - £30.00
	466	An art deco 3 piece clock garniture £60.00 - £80.00	505	A biscuit barrel with plated handle and top £10.00 -
	467	A Royal Doulton series ware dish and 2 Royal Doulton plates £10.00 - £20.00		£20.00
	468	A box of assorted tools £10.00 - £20.00	506	A silver plate tray and lidded sugar bowl £10.00 - £20.00
	469	A box of assorted meters etc £10.00 - £20.00	507	2 framed and glazed Victor Hugo prints, one with
	470	A wheel barrow £10.00 - £20.00		medallion £20.00 - £30.00
	471	4 Wade Bell's whisky bells £10.00 - £20.00	508	A Kundo anniversary clock £20.00 - £30.00
	472	A quantity of old books £10.00 - £20.00	509	A floral decorated vase £10.00 - £20.00
	473	A modern pine chest of drawers £20.00 - £30.00	510	A brass kettle on stand £10.00 - £20.00
	474	A pewter lidded jug £10.00 - £20.00	511	A fretwork porcelain dish £10.00 - £20.00
	475	A small drum table £10.00 - £20.00	512	A new android tablet with case £20.00 - £30.00
	476	A Tosca figure of a stamp collector, signed £10.00	513	A collection of souvenir spoons £10.00 - £20.00
		- £20.00	514	A silver plated teapot, jug and ladle £10.00 - £20.00
	477	A good quality cut glass bowl £10.00 - £15.00	515	A pair of retro jugs £10.00 - £20.00
	478	An oak drop leaf table £10.00 - £20.00	516	An old alabaster urn with lid £20.00 - £30.00
	479	A modern coffee table £10.00 - £20.00	517	A pair of red glass vases and other vases £10.00 -
	480	A pair of brass horse hames £20.00 - £30.00	517	£20.00
	481	A painted pine 2 over 3 chest of drawers £20.00 - £30.00	518	A 3 piece pewter tea set £20.00 - £30.00
	482	A modern cupboard £10.00 - £20.00	519	3 metal boxes and a bell £10.00 - £20.00
	483	A Victorian mahogany chair £10.00 - £20.00	520	A decanter and glass ware £10.00 - £20.00
	484	A mahogany sideboard £20.00 - £30.00	521	A Fisher Price record player with records £10.00 - £20.00
	485	A child's chair £10.00 - £20.00	522	A cut glass decanter and 6 glasses £10.00 -
	486	A modern television stand £10.00 - £20.00	022	£20.00
	487	A metal garden table and 4 chairs £20.00 - £30.00	523	A quantity of commemorative china £10.00 -
	488	A garden table and 4 chairs £20.00 - £30.00		£20.00
	489	A tapestry £10.00 - £20.00	524	A cream sofa £20.00 - £30.00
	490	3 clothes horses and an ironing board £10.00 -	525	A holdall and 5 suitcases £10.00 - £20.00
		£20.00	526	2 good quality bowler hats, other hats and a wine table £20.00 - £30.00
	491	An oval dining table and 5 chairs £20.00 - £30.00	527	A mixed lot of boxes etc £10.00 - £20.00
	492	A 3 piece suite £20.00 - £30.00	528	7 items of Portmerion pottery, some a/f £10.00 -
	493	A wheel chair and a walking aid £20.00 - £30.00	0_0	£20.00
	494	A mixed lot of jewellery and watches £10.00 - £20.00	529	A large collection of Fly Past magazines, Aeroplane and Memorial flight £20.00 - £30.00
	495	3 framed and glazed engravings £10.00 - £20.00	530	A Sony music centre £20.00 - £30.00
	496	A mixed lot of costume jewellery and a jewellery stand £10.00 - £20.00	531	A shelf of art materials including paints, brushes etc £10.00 - £20.00
	497	A pair of framed and glazed engravings £10.00 - £20.00	532	A shelf of enamel oven ware £10.00 - £20.00
	498	A framed and glazed print entitled 'An Old Woman	533	A framed and glazed rural scene £10.00 - £20.00
	• =	with Rosary' Paul Cezanne 1839-1906 £10.00 -	534	An oak fire surround £10.00 - £20.00
		£20.00	535	An oak coffer style blanket box £20.00 - £30.00
	499	A large lidded ginger jar £20.00 - £30.00	536	A pet cage £10.00 - £20.00
	500	A gilt and velvet framed mirror £10.00 - £15.00	537	4 figures and a cottage £10.00 - £20.00
Зіа	Master	Office 7		

	538	2 glass bowls (one engraved) and a glass vase £10.00 - £20.00	572	A shelf of candles etc £10.00 - £20.00
	539	A Wood's Imari style pot with lid, a tulip vase and	573	A framed and glazed rural watercolour £10.00 - £20.00
		bowl £15.00 - £20.00	574	3 shelves of railway magazines £10.00 - £20.00
	540	A quantity of meters etc £10.00 - £20.00	575	A camouflage jacket and trousers £10.00 - £20.00
	541	A quantity of 78 rpm records £10.00 - £20.00	576	8 wooden cutlery trays £10.00 - £20.00
	542	A Ridgeway bowl, 2 jugs and a lidded pot £10.00 - £20.00	577	A shelf of blue and white included lidded bowls £10.00 - £20.00
	543	5 assorted figures £10.00 - £20.00	578	A box of assorted LP records £10.00 - £20.00
	544	A mixed lot of kitchen ware £10.00 - £20.00	579	2 fan heaters etc £10.00 - £20.00
	545	3 ceramic vases £10.00 - £20.00	580	2 wicker cutlery trays and 2 other wicker trays
	546	2 boxed Corgi Motorsport Fords £10.00 - £20.00		£10.00 - £20.00
	547	18 pieces of Susie Cooper tea ware £20.00 - £30.00	581 582	A quantity of hats and handbags £10.00 - £20.00 A large quantity of cutlery in 2 trays £10.00 -
	548	A mixed lot of glass ware £10.00 - £20.00		£20.00
	549	A mixed lot including vases, jugs etc £10.00 - £20.00	583	A vintage fire extinguisher and a garden sprayer £10.00 - £20.00
	550	A mixed lot of silver plate etc £10.00 - £20.00	584	2 glass lemonade sets £10.00 - £20.00
	551	A quantity of pool balls £10.00 - £20.00	585	A collection of books including R.A.F, military,
	552	A mixed lot of linen £10.00 - £20.00		western comics etc £10.00 - £20.00
	553	A metal dog, a metal owl and a metal hen £10.00 -	586	A quantity of doll house furniture £15.00 - £20.00
	554	£20.00 6 glass sundae dishes and 4 glasses £10.00 -	587	A mixed lot of tea ware and blue and white £10.00 - £20.00
	555	£20.00 A quantity of miscellaneous air and R.A.F	588	A boxed set of 3 house votives with tea lights £10.00 - £20.00
	000	magazines £10.00 - £20.00	589	A box of CD's and DVD's £10.00 - £20.00
	556	3 flat screen televisions with leads and controls	590	3 pine framed farm animal prints £10.00 - £20.00
		£20.00 - £30.00	591	7 items of Poole pottery £10.00 - £20.00
	557	A collection of Manchester United Review football	592	3 cased sets of cutlery £10.00 - £20.00
	550	programmes £10.00 - £20.00	593	2 boxes of costume jewellery £10.00 - £20.00
	558	A boxed teapot, cat and 2 other items £10.00 - £20.00	594	A box of assorted records £10.00 - £20.00
	559	An 18 piece tea set £10.00 - £20.00	595	2 Demi Tasse cups and saucers, a 19th century nodding figure, old pipe etc £15.00 - £20.00
	560	A large quantity of new flags, Union Jack etc £15.00 - £20.00	596	A mixed lot of silver plate etc £10.00 - £15.00
	561	2 shelves of glass ware £10.00 - £20.00	597	2 shelves of vintage china including meat platters, lustre ware, figural tea ware etc. £10.00 - £20.00
	562	A collection of Battle of Britain memorial flight brochures, magazines, newspapers etc £20.00 - £30.00	598	A Techniko TV/DVD combo £20.00 - £30.00
	563	A gilt framed bevel edged mirror £10.00 - £20.00	599	3 candle holders £10.00 - £15.00
	564	A mixed lot of metal ware including tray £10.00 - £20.00	600	A mixed lot of china including commemorative, Royal Doulton, Coalport etc £10.00 - £20.00
	565	A 1960's Lava Lamp £15.00 - £20.00	601	A film camera, binoculars and goggles £10.00 -
	566	A French alabaster clock surmounted Sevres finial, a/f £20.00 - £30.00	602	£20.00 A mixed lot of metal ware £10.00 - £20.00
	567	A 4 drawer chest £10.00 - £20.00	603	A mixed lot of tea ware £10.00 - £20.00
	568		604	A mirror, pictures etc £10.00 - £20.00
	569	A framed and glazed rural print £10.00 - £20.00 An oak wardrobe £10.00 - £20.00	605	A pair of ceramic table lamps £10.00 - £20.00
	570	A Snoopy lamp and 3 others £10.00 - £20.00	606	A shelf of glass ware £10.00 - £20.00
	571	2 shelves of silver plate and metalware including	607	A shelf of photo frames £10.00 - £20.00
	57 1	toast racks, fruit bowl, trays etc £10.00 - £20.00	608	A shelf of meat platters, plates etc £10.00 - £20.00
i	Mastar	Office 8		

609	A Cased Panasonic cine camera £10.00 - £20.00	645	2 boxes of costume jewellery £10.00 - £20.00
610	A shelf of assorted figures, animals etc £10.00 -	646	3 flower advertisements £10.00 - £15.00
	£20.00	647	8 assorted plates £10.00 - £20.00
611	A quantity of camera's and binoculars £10.00 - £20.00	648	A quantity of pipes and cigars £10.00 - £20.00
612	A mixed lot of silver plate £10.00 - £20.00	649	A quantity of small prints and engravings £10.00 - £20.00
613	A mixed lot of china including Royal Doulton Bunnikins, Wedgwood Peter Rabbit bowl, Carlton Ware baby plate a/f, Wade etc £10.00 - £20.00	650	A brass coffee table with marble top supported by cherubs £20.00 - £30.00
614	A quantity of craft books, stained glass, weaving,	651	A floral oil on canvas £10.00 - £20.00
	silk painting etc £15.00 - £20.00	652	A Victorian mahogany tip top tripod table £40.00 - £60.00
615	A quantity of 45 rpm and LP records £10.00 - £20.00	653	A retro magazine rack £10.00 - £15.00
616	A quantity of tapestry kits £10.00 - £20.00	654	2 oils on canvas signed Herbert Moore '23 £10.00 - £20.00
617	A mixed lot of glass ware including Royal Doulton, decanters etc £10.00 - £20.00	655	A bamboo and glass coffee table £10.00 - £20.00
618	A quantity of horses, all a/f £10.00 - £20.00	656	A J Rabone & Son spirit level in wooden box
619	A mixed lot of china including 2 James Kent cups		£20.00 - £30.00
	and saucers, Crown Derby dish etc £20.00 -	657	An old axe £10.00 - £20.00
	£30.00	658	A quantity of paintings £10.00 - £20.00
620	A mixed lot of wooden boxes etc £10.00 - £20.00	659	A mixed lot of brass ware £20.00 - £30.00
621	A shelf of photo frames £10.00 - £20.00	660	4 framed and glazed portraits £20.00 - £30.00
622	A mantel clock £10.00 - £20.00	661	A copper Flemish fire curb £20.00 - £30.00
623	2 pine framed mirrors £10.00 - £20.00	662	A Victorian nursing chair on pad feet and with splayed back legs £20.00 - £30.00
624	A Habitat bottle vase £10.00 - £20.00	cco	
625	A French marble clock garniture £40.00 - £60.00	663	A framed and glazed watercolour signed F Hayden and one other £10.00 - £20.00
626	An asparagus dish and 4 plates £10.00 - £20.00	664	A mixed lot of chess pieces, crib board etc £10.00
627	A shire horse and cart £10.00 - £20.00		- £20.00
628	2 metal boxes and a dish £10.00 - £20.00	665	5 old walking sticks £20.00 - £30.00
629	11 volumes of 'Milestone in History' series and 12 volumes of 'Discovery and Exploration' etc £10.00 -	666	A classical scene wall plaque £10.00 - £20.00
	£20.00	667	3 shelves of china £10.00 - £20.00
630	A shelf of table lamps £10.00 - £20.00	668	A Neostar music centre £10.00 - £20.00
631	A box of plate stands etc £10.00 - £20.00	669	A Kenwood music centre £10.00 - £20.00
632	4 photo frames £8.00 - £10.00	670	7 boxed Bruago cars, 2 UT model cars, 2 boxed
633	A coffee pot with 4 matching cups and saucers together with a trio £15.00 - £20.00		Techo Giodi Ferrari Daytona's and a boxed Maisto car £30.00 - £40.00
634	A mixed lot of glassware £10.00 - £20.00	671	A mixed lot of glassware £10.00 - £20.00
635	A quantity of sea shellos £8.00 - £10.00	672	A chrome and glass nest of 3 tables £10.00 - £20.00
636	A shelf of ceramic vases etc £10.00 - £20.00	070	
637	2 boxes of model railway items £20.00 - £30.00	673	A pair of German bisque porcelain figures, 1 a/f £20.00 - £30.00
638	An elephant brass on leather £10.00 - £20.00	674	A pair of carver chairs with leather seats and
639	A porcelain tiger by H Bequet Quaregnon, made in Belgium £10.00 - £20.00	675	backs £20.00 - £30.00 A large quantity of 'Friends of the Chalet School'
640	A teak coffee table £10.00 - £20.00	075	magazines £10.00 - £20.00
641	A mahogany inlaid writing box, a/f £20.00 - £30.00	676	A mixed lot of bedding including knitted blanket
642	An oak barometer £10.00 - £15.00		£10.00 - £20.00
643	A gilded urn £10.00 - £15.00	677	3 mirrors £10.00 - £20.00
644	A Victorian portrait in gilded frame under glass	678	A quantity railway pictures and adverts £10.00 -
J.,	(glass case a/f) £40.00 - £60.00		£20.00

679	4 framed and glazed oriental dancer prints £20.00 - £30.00	719	A mixed lot of tools including drill bits, spanners etc £10.00 - £20.00
680	A quantity of dried flowers etc £10.00 - £20.00	720	A quantity of stoneware jars £10.00 - £20.00
681	A cut glass decanter and 6 glasses £15.00 -	721	A Dimplex heater and one other £10.00 - £20.00
C00	£20.00	722	A mixed lot of china and glass including Gilson
682	A nest of 3 tables £10.00 - £20.00		teapot and stand, Mason posy vase, Melba Toby jug, cutlery etc £10.00 - £20.00
683	A Ridgways Gretna Green jug and a vase £10.00 - £20.00	723	A circular coffee table £8.00 - £10.00
684	A singer sewing machine £10.00 - £20.00	724	A terracotta bread crock £10.00 - £20.00
685	6 items of cut glass £10.00 - £20.00	725	3 mirrors £10.00 - £20.00
686	A rosewood occasional table with mother of pearl inlay £20.00 - £30.00	726	3 Wedgwood Susie Cooper poppies trios £10.00 - £20.00
687	A pair of brass wall lights £10.00 - £20.00	727	A small barometer £10.00 - £20.00
688	A Meakin dinner set £10.00 - £20.00	728	2 framed and glazed German prints £10.00 -
689	A wooden coal bin with shovel £20.00 - £30.00		£20.00
690	A mixed lot of costume jewellery £10.00 - £20.00	729	A box of assorted pictures £10.00 - £20.00
691	A copper post horn £10.00 - £20.00	730	2 vases £10.00 - £20.00
692	An Alva TV and an LG video recorder £10.00 -	731	A pine 3 drawer bedside chest £10.00 - £20.00
693	£20.00 A large copper bowl and a copper warming pan	732	An ice bucket, a soda syphon and a Thermos jug £10.00 - £20.00
	£10.00 - £20.00	733	A mahogany chair £10.00 - £20.00
694	2 ottoman's £10.00 - £20.00	734	A pine table £10.00 - £20.00
695	A full size Silver Cross pram £20.00 - £30.00	735	2 dressing table stools £10.00 - £20.00
696	A wooden garden table and 2 chairs £10.00 -	736	A rocking chair £10.00 - £20.00
007	£20.00	737	A teak dining table £10.00 - £20.00
697	5 assorted rugs £20.00 - £30.00	738	A full size Silver Cross pram £20.00 - £30.00
698	A knowledge of the stand £10.00 - £20.00	739	2 blanket boxes and contents £20.00 - £30.00
699	A blanket box £10.00 - £20.00	740	A Panasonic ipod dock £10.00 - £20.00
700	A reel to reel tape recorder £10.00 - £20.00	741	A computer desk £10.00 - £20.00
701	A tiled top table £10.00 - £20.00	742	An 18 piece dinner set £10.00 - £20.00
702	A walking stick and an umbrella £10.00 - £15.00	743	A teak cabinet £10.00 - £20.00
703	A pine dresser back £20.00 - £30.00	744	A shoe cabinet £10.00 - £20.00
704 705	A walking aid £10.00 - £20.00	745	A mixed lot of glass ware £10.00 - £20.00
705 706	A forming topped drap loof table \$10.00 - £20.00	746	A crash helmet £10.00 - £20.00
700	A formica topped drop leaf table £10.00 - £15.00 A set of plastic drawers £10.00 - £15.00	747	A magazine rack £10.00 - £20.00
707	A Jones sewing machine £10.00 - £20.00	748	A mahogany fold over tea table £30.00 - £40.00
709	A pair of bedside cabinets £10.00 - £20.00	749	A Matsui music centre £10.00 - £20.00
710	A Singer cabinet sewing machine £10.00 - £20.00	750	A 2 door cupboard £10.00 - £20.00
710	4 mirrors £10.00 - £20.00	751	A Technics key board £10.00 - £20.00
712	An oak cased part canteen of cutlery £10.00 -	752	A metal candle stand £10.00 - £15.00
112	£20.00	753	A modern shelf unit £10.00 - £15.00
713	A quantity of photo framed £8.00 - £10.00	754	An oak chair £10.00 - £20.00
714	A mixed lot of tools etc £10.00 - £20.00	755	An oak coffer £150.00 - £180.00
715	A quantity of wooden items including book rest	756	A mahogany dressing table £30.00 - £40.00
	£10.00 - £20.00	757	A 2 over 3 Victorian mahogany chest of drawers £40.00 - £60.00
716	A framed and glazed print £10.00 - £20.00	758	A John Letters of Scotland Titanium 450cc golf
717	2 framed and glazed prints £10.00 - £20.00		club £10.00 - £20.00
718	An ottoman £10.00 - £20.00		

759 760	A white dressing table £15.00 - £20.00 A quantity of table lamps £10.00 - £20.00	799	A red ground carpet runner, 180 x 850 cm £20.00 - £30.00
761	A pine wall shelf £8.00 - £10.00	800	A corner cabinet £15.00 - £20.00
762	A modern sideboard £20.00 - £30.00	801	An oil on canvas signed but indistinct £10.00 -
763	6 aircraft related prints £10.00 - £20.00		£20.00
764	A drop leaf table £10.00 - £20.00	802	A framed and glazed rural scene £10.00 - £20.00
765	An oak table and 4 chairs £20.00 - £30.00	803	A modern book case £10.00 - £20.00
766	A French rabbit skin fur jacked labelled size 14 £10.00 - £20.00	804	A Revell model galleon, games compendium and soft toys £10.00 - £20.00
767	An oak drop leaf table £10.00 - £20.00	805	A pair of ladder back chairs £10.00 - £20.00
768	A framed and glazed tiger print £10.00 - £20.00	806	A pair of kitchen chairs £10.00 - £20.00
769	A large gilt framed continental street scene £20.00	807	A pair of elbow chairs £10.00 - £20.00
. 00	- £30.00	808	A pair of cane back chairs £10.00 - £20.00
770	A mahogany elbow chair £10.00 - £20.00	809	A set of 4 chairs £10.00 - £20.00
771	An oval extending dining table £10.00 - £20.00	810	An armchair with matching foot stool £20.00 - £30.00
772	4 suitcases £10.00 - £20.00	811	A rocking chair £20.00 - £30.00
773	A 2 door cupboard £10.00 - £20.00	812	A wing back arm chair £10.00 - £20.00
774	A 2 over 3 chest of drawers £10.00 - £20.00	813	A tan leather chair £20.00 - £30.00
775	4 framed and glazed designs for Mulberry harbours	814	A good quality dining table and 4 chairs £30.00 -
770	£10.00 - £20.00	014	£40.00
776	A mahogany effect wall unit £20.00 - £30.00	815	3 folding stools £10.00 - £20.00
777	4 suitcases £10.00 - £20.00	816	A three piece suite £20.00 - £30.00
778 770	A modern wardrobe £10.00 - £20.00	817	A rope top stool £8.00 - £10.00
779	A picture on canvas of a nude £10.00 - £15.00	818	A sewing box £8.00 - £10.00
780	A framed and glazed rural watercolour £10.00 - £20.00	819	A modern cabinet £10.00 - £20.00
781	A quantity of blankets and linen £10.00 - £20.00	820	A framed and glazed Grecian print £10.00 - £20.00
782	A mahogany sideboard £10.00 - £20.00	821	A 2 drawer and a 3 drawer chest £10.00 - £20.00
783	2 Linen baskets etc £10.00 - £20.00	822	5 framed and glazed hunting prints £10.00 - £20.00
784	A teak wall unit £20.00 - £30.00	823	A mahogany dressing table £20.00 - £30.00
785	A bird painting, 2 floral paintings and a print	824	An oak 2 drawer chest £10.00 - £20.00
	£10.00 - £20.00	825	An Olympia typewriter £10.00 - £20.00
786	An oak dressing table £20.00 - £30.00	826	An oak cupboard £10.00 - £20.00
787	An oil on canvas and a framed tapestry £10.00 -	827	A Habitat kitchen unit £40.00 - £60.00
700	£20.00	828	2 red ground patterned rugs £20.00 - £30.00
788	A quantity of hand bags £10.00 - £20.00	829	A matching dressing table, chest of drawers and 2
789	A teak wall unit £20.00 - £30.00	000	bedsides £20.00 - £30.00
790 791	A bamboo wall unit £10.00 - £20.00 A quantity of large picture frames £20.00 - £30.00	830	A large gilt framed oil on canvas signed V Lciozzel?, 1919 £20.00 - £30.00
791 792	A wood framed sofa £10.00 - £20.00	831	2 boxes of assorted LP records £10.00 - £20.00
792 793	A conservatory sofa £10.00 - £20.00	832	A pale mahogany triple door wardrobe £60.00 -
793 794	An Edwardian chair £10.00 - £20.00		£80.00
794 795	3 pictures including 1944 Punch cartoon after	833	A corner cabinet £10.00 - £20.00
755	Frank Reynolds £10.00 - £20.00	834	A golf bag and clubs £20.00 - £30.00
796	A 4 drawer teak chest £10.00 - £20.00	835	A box of assorted 45 rpm records including picture discs £10.00 - £20.00
797	An oil on canvas still life signed J Clench £10.00 -	006	
	£20.00	836	A 3 drawer chest £10.00 - £20.00
798	An oak bureau £10.00 - £20.00	837	A music centre cabinet £10.00 - £20.00
Didl lootor	Office 11	838	A quantity of postcards £10.00 - £20.00

- 839 A 3 drawer chest £10.00 £20.00
- 840 A computer desk and a printer £10.00 £20.00
- 841 2 three drawer chests £10.00 £20.00
- 842 A shoe cabinet £10.00 £20.00
- 843 A wool rug £20.00 £30.00
- 844 A rack of coats and other clothes £10.00 £20.00
- 845 3 lengths of carpet £20.00 £30.00
- A metal bedstead and a cane headboard £20.00 £30.00
- 847 A Kamm folding table in case, an aluminium Venetian blind (120 x 160cm) and a black out blind (183 x 162cm) £20.00 £30.00
- 848 A framed and glazed rural watercolour £10.00 £20.00
- 849 A small oak gate leg table £20.00 £30.00
- 850 A car cycle rack £10.00 £20.00
- 851 A Karcher pressure washer £20.00 £30.00
- 852 A wolf pressure washer £20.00 £30.00
- 853 A teak bureau £10.00 £20.00
- 854 A black glass television stand £8.00 £10.00
- A mixed lot of china and glass ware including Avon bottles, Royal Doulton tea and dinner ware etc £10.00 - £20.00
- A camping satelite dish, a Ferguson video player, A Philips DVD player with remote control and a Samsung Video & DVD combo player £10.00 £20.00
- 857 A pair of small D shaped tables £10.00 £20.00
- A mixed lot of ephemera including football programmes, art, maps etc £10.00 £20.00
- 859 A fridge freezer £20.00 £30.00
- 860 A 2ft divan bed and a 2'6" divan bed £20.00 £30.00
- 861 A blanket box £10.00 £20.00
- 862 A quantity of garden tools including strimmer £10.00 £20.00
- 863 A double divan base £10.00 £20.00
- 2 tiled top tables, a bedside cabinet, blanket box and book shelf £20.00 £30.00
- 865 A mahogany inlaid arm chair £20.00 £30.00
- 866 A framed and glazed watercolour featuring cattle £10.00 £20.00
- 867 An old Raleigh push bike £20.00 £30.00
- 868 A Raleigh Wayfarer bike £20.00 £30.00
- 869 A Rockworth generator, hardly used £50.00 £70.00
- A Wickes 2 wheel bench grinder, in working order £20.00 £30.00
- A Dewalt power saw, hardly used £40.00 £60.00